		BaseLine Item Detail	Joseph M.	Sanzari, Inc.	J. Fletcher Crea	mer & Son, Inc.	Carbro Const	ructors Corp.	Ritacco Cons	truction, Inc.	Roman E	&G Corp.
Item No. Unit Code C	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	ine Total	Unit Price	Line Total
1 104-0001	1 L.S.	Construction Layout	\$200,000.00	\$200,000.00	\$1,000,000.00	\$1,000,000.00	\$80,000.00	\$80,000.00	\$300,000.00	\$300,000.00	\$200,000.00	\$200,000.00
2 104-0002	1 L.S.	Mobilization	\$1,200,000.00	\$1,200,000.00	\$200,000.00	\$200,000.00	\$1,580,000.00	\$1,580,000.00	\$1,600,000.00	\$1,600,000.00	\$1,200,000.00	\$1,200,000.00
3 107-0001	1 L.S.	Progress Schedule	\$50,000.00	\$50,000.00	\$32,000.00	\$32,000.00	\$72,600.00	\$72,600.00	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00
4 108-0001	12,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00
5 108-N0004	2,000.00 USD	Steel Price Adjustment (No-Bid)	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
6 201-0002	1 L.S.	Clearing and Grubbing	\$300,000.00	\$300,000.00	\$93,400.00	\$93,400.00	\$800,000.00	\$800,000.00	\$875,000.00	\$875,000.00	\$200,000.00	\$200,000.00
7 202-0002	2,512.00 C.Y.	Roadway Excavation, Earth	\$50.00	\$125,600.00	\$250.00	\$628,000.00	\$25.00	\$62,800.00	\$45.00	\$113,040.00	\$80.00	\$200,960.00
8 202-0007	1,140.00 C.Y.	Stripping Topsoil	\$82.00	\$93,480.00	\$40.00	\$45,600.00	\$47.00	\$53,580.00	\$25.00	\$28,500.00	\$10.00	\$11,400.00
9 202-0009	100,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
10 203-0001	4,656.00 C.Y.	Embankment, Common	\$23.00	\$107,088.00	\$55.00	\$256,080.00	\$40.00	\$186,240.00	\$35.00	\$162,960.00	\$145.00	\$675,120.00
11 203-0004 12 203-N0002	413 C.Y. 976 C.Y.	Porous Fill Controlled Low Strength Material	\$149.00 \$190.00	\$61,537.00	\$170.00 \$265.00	\$70,210.00	\$110.00 \$220.00	\$45,430.00 \$214,720.00	\$120.00	\$49,560.00 \$204,960.00	\$200.00 \$300.00	\$82,600.00
13 205-0001	4,380.00 C.Y.	Foundation Excavation	\$190.00	\$185,440.00 \$153,300.00	\$46.00	\$258,640.00 \$201,480.00	\$50.00	\$219,000.00	\$210.00 \$35.00	\$153,300.00	\$300.00 \$110.00	\$292,800.00 \$481,800.00
14 205-0001	4,380.00 C.Y.	Coarse Aggregate Layer	\$85.00	\$13,600.00	\$161.00	\$25,760.00	\$100.00	\$16,000.00	\$100.00	\$16,000.00	\$75.00	\$12,000.00
15 207-0001	24 Ton	Riprap Stone Slope Protection, 12in Thick, (D50=6in)	\$365.00	\$8,760.00	\$235.00	\$5,640.00	\$150.00 \$150.00	\$3,600.00	\$550.00	\$13,200.00	\$480.00	\$12,000.00
16 207-0001	99 Ton	RipRap Stone Aprons, 12in Thick, (D50=6in)	\$230.00	\$22,770.00	\$230.00	\$22,770.00	\$150.00 \$150.00	\$14,850.00	\$175.00	\$17,325.00	\$330.00	\$32,670.00
17 207-0004	257 Ton	Riprap Stone Aprons, 12th Thick(D50=0th) Riprap Stone Aprons, 24th Thick (D50=12th)	\$230.00	\$54,741.00	\$155.00	\$39,835.00	\$150.00 \$150.00	\$38,550.00	\$175.00	\$32,125.00	\$175.00	\$44,975.00
18 207-N0006	90 Ton	Riprap Stone Scour Hole, 12in Thick (D50-12in)	\$185.00	\$16,650.00	\$155.00	\$13,950.00	\$150.00 \$150.00	\$13,500.00	\$150.00	\$13,500.00	\$173.00	\$17,100.00
19 207-N0008	188 Ton	Riprap Stone Scour Hole, 24in Thick (D50=12in)	\$178.00	\$33,464.00	\$150.00	\$28,200.00	\$150.00 \$150.00	\$28,200.00	\$125.00	\$23,500.00	\$130.00	\$24,440.00
20 207-N0013	5 Ton	Grouted Riprap, 24in Thick (D50=12in)	\$1,000.00	\$5,000.00	\$1,200.00	\$6,000.00	\$1,250.00	\$6,250.00	\$650.00	\$3,250.00	\$1,500.00	\$7,500.00
21 208-0008	300 L.F.	Heavy Duty Silt Fence	\$19.00	\$5,700.00	\$23.00	\$6,900.00	\$15.00	\$4,500.00	\$9.00	\$2,700.00	\$10.00	\$3,000.00
22 208-0013	80 L.F.	Floating Turbidity Barriers	\$71.00	\$5,680.00	\$100.00	\$8,000.00	\$240.00	\$19,200.00	\$25.00	\$2,000.00	\$75.00	\$6,000.00
23 208-0022	41 Each	Inlet Filter, Type 2	\$190.00	\$7,790.00	\$225.00	\$9,225.00	\$75.00	\$3,075.00	\$150.00	\$6,150.00	\$10.00	\$410.00
24 208-0024	5,517.00 Ton	Construction Driveway	\$140.00	\$772,380.00	\$10.00	\$55,170.00	\$100.00	\$551,700.00	\$85.00	\$468,945.00	\$120.00	\$662,040.00
25 208-N0001	8 Each	Concrete Washout Facility	\$1,050.00	\$8,400.00	\$3,100.00	\$24,800.00	\$1,500.00	\$12,000.00	\$2,500.00	\$20,000.00	\$4,500.00	\$36,000.00
26 208-N0002	65 Each	Sediment Control Bags	\$307.00	\$19,955.00	\$145.00	\$9,425.00	\$150.00	\$9,750.00	\$250.00	\$16,250.00	\$50.00	\$3,250.00
27 208-N0009	8 Each	Oil-Only Emergency Spill Kit, Type 1	\$975.00	\$7,800.00	\$1,500.00	\$12,000.00	\$1,000.00	\$8,000.00	\$500.00	\$4,000.00	\$250.00	\$2,000.00
28 208-N0016	1 L.S.	Stream Diversion - Location No. 1	\$150,000.00	\$150,000.00	\$46,750.00	\$46,750.00	\$257,900.00	\$257,900.00	\$175,000.00	\$175,000.00	\$300,000.00	\$300,000.00
29 208-N0017	1 L.S.	Stream Diversion - Location No. 2	\$150,000.00	\$150,000.00	\$105,600.00	\$105,600.00	\$295,220.00	\$295,220.00	\$325,000.00	\$325,000.00	\$60,000.00	\$60,000.00
30 208-N0018	1 L.S.	Stream Diversion - Location No. 3	\$150,000.00	\$150,000.00	\$137,300.00	\$137,300.00	\$302,000.00	\$302,000.00	\$225,000.00	\$225,000.00	\$220,000.00	\$220,000.00
31 208-N0021	150 Each	Hay Bales	\$79.00	\$11,850.00	\$30.00	\$4,500.00	\$10.00	\$1,500.00	\$25.00	\$3,750.00	\$1.00	\$150.00
32 208-N0022	8,595.00 L.F.	Heavy Duty Orange Silt Fence	\$8.00	\$68,760.00	\$11.00	\$94,545.00	\$15.00	\$128,925.00	\$9.00	\$77,355.00	\$25.00	\$214,875.00
33 208-N0023	1 L.S.	Stream Diversion - Location No. 5	\$150,000.00	\$150,000.00	\$43,600.00	\$43,600.00	\$95,460.00	\$95,460.00	\$125,000.00	\$125,000.00	\$50,000.00	\$50,000.00
34 210-0001	1 L.S.	Demolition of Existing Structures	\$75,000.00	\$75,000.00	\$15,725.00	\$15,725.00	\$174,315.00	\$174,315.00	\$125,000.00	\$125,000.00	\$300,000.00	\$300,000.00
35 213-0002	868 Ton	Disposal of Regulated Material	\$60.00	\$52,080.00	\$27.25	\$23,653.00	\$59.00	\$51,212.00	\$50.00	\$43,400.00	\$60.00	\$52,080.00
36 214-N0001	1 L.S.	Vibration and Displacement Monitoring, Location 1	\$50,000.00	\$50,000.00	\$8,200.00	\$8,200.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00
37 214-N0002	1 L.S.	Vibration and Displacement Monitoring, Location 2	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00
38 299-N0001	1 L.S.	Dewatering	\$150,000.00	\$150,000.00	\$119,000.00	\$119,000.00	\$1,000.00	\$1,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
39 299-N0013	168 S.Y.	Geosynthetic Embankment Reinforcement	\$20.00	\$3,360.00	\$51.00	\$8,568.00	\$65.00	\$10,920.00	\$80.00	\$13,440.00	\$17.00	\$2,856.00
40 299-N0014	25 Ton	Boulder	\$216.00	\$5,400.00	\$390.00	\$9,750.00	\$2,000.00	\$50,000.00	\$700.00	\$17,500.00	\$80.00	\$2,000.00
41 299-N0015	162 C.Y.	Removal of Gabion Wall	\$138.00	\$22,356.00	\$67.00	\$10,854.00	\$95.00	\$15,390.00	\$60.00	\$9,720.00	\$250.00	\$40,500.00
42 302-0002	234 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$251.00	\$58,734.00	\$550.00	\$128,700.00	\$272.00	\$63,648.00	\$230.00	\$53,820.00	\$550.00	\$128,700.00
43 302-0004	1,755.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$240.00	\$421,200.00	\$190.00	\$333,450.00	\$228.00	\$400,140.00	\$240.00	\$421,200.00	\$220.00	\$386,100.00
44 302-0063 45 302-0071	10,500.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$10,500.00	\$1.00 \$10.00	\$10,500.00	\$1.00 \$0.10	\$10,500.00	\$1.00 \$0.10	\$10,500.00	\$1.00 \$10.00	\$10,500.00
45 302-0071 46 302-N0007	1,200.00 L.F. 160 GAL	Polymerized Joint Adhesive Trackless Tack Coat	\$1.00 \$1.00	\$1,200.00 \$160.00	\$10.00 \$25.00	\$12,000.00 \$4,000.00	\$0.10 \$0.50	\$120.00 \$80.00	\$0.10 \$0.50	\$120.00 \$80.00	\$10.00 \$25.00	\$12,000.00 \$4,000.00
47 303-0001	317 S.Y.	Berm Surfacing, 3 Inches Thick	\$60.00	\$19,020.00	\$25.00 \$115.00	\$36,455.00	\$80.00	\$25,360.00	\$60.00	\$19,020.00	\$25.00 \$100.00	\$4,000.00
48 305-0001	1,600.00 S.Y.	Pavement Removal, 2 1/2in Depth	\$8.00	\$19,020.00	\$29.00	\$46,400.00	\$8.00	\$12,800.00	\$7.00	\$19,020.00	\$100.00	\$16,000.00
49 401-0003	1,000.00 3.1. 133 C.Y.	Concrete in Retaining Wall	\$1,642.00	\$218,386.00	\$3,250.00	\$432,250.00	\$4,200.00	\$558,600.00	\$2,750.00	\$365,750.00	\$3,200.00	\$425,600.00
50 401-0004	37,004.00 LB	Reinforcement Steel, Galvanized	\$2.50	\$92,510.00	\$3,250.00	\$129,514.00	\$3.00	\$111,012.00	\$2,750.00	\$74,008.00	\$3,200.00	\$111,012.00
51 401-0016	83 C.Y.	Concrete in Leveling Slab	\$450.00	\$37,350.00	\$560.00	\$46,480.00	\$526.00	\$43,658.00	\$500.00	\$41,500.00	\$510.00	\$42,330.00
52 401-0032	258 C.Y.	Concrete In Footings	\$500.00	\$129,000.00	\$740.00	\$190,920.00	\$1,520.00	\$392,160.00	\$700.00	\$180,600.00	\$800.00	\$206,400.00
53 401-N0009	92 Each	Reinforcement Bar Coupler, Galvanized	\$37.00	\$3,404.00	\$43.00	\$3,956.00	\$60.00	\$5,520.00	\$35.00	\$3,220.00	\$1.00	\$92.00
54 401-N0023	20,198.00 C.F.	Hydraulic-Cement Grout	\$17.00	\$343,366.00	\$16.00	\$323,168.00	\$15.00	\$302,970.00	\$45.00	\$908,910.00	\$25.00	\$504,950.00
55 405-0002	1 L.S.	Furnishing Equipment for Driving Piles	\$120,000.00	\$120,000.00	\$125,000.00	\$125,000.00	\$254,250.00	\$254,250.00	\$350,000.00	\$350,000.00	\$25,000.00	\$25,000.00
56 405-0018	1,491.00 L.F.	Furnishing Steel Piles, HP12X53	\$54.00	\$80,514.00	\$52.00	\$77,532.00	\$60.00	\$89,460.00	\$60.00	\$89,460.00	\$70.00	\$104,370.00
57 405-0019	1,491.00 L.F.	Driving Steel Piles, HP12X53	\$83.00	\$123,753.00	\$42.00	\$62,622.00	\$76.00	\$113,316.00	\$50.00	\$74,550.00	\$30.00	\$44,730.00
58 405-0020	, 236 L.F.	Steel HP12X53 Test Piles	\$125.00	\$29,500.00	\$125.00	\$29,500.00	\$270.00	\$63,720.00	\$230.00	\$54,280.00	\$100.00	\$23,600.00
59 405-0091	4 Each	Dynamic Pile Load Tests	\$1,500.00	\$6,000.00	\$3,400.00	\$13,600.00	\$15,000.00	\$60,000.00	\$3,000.00	\$12,000.00	\$5,000.00	\$20,000.00

		BaseLine Item Detail	Joseph M. S	Sanzari, Inc.	J. Fletcher Crea	amer & Son, Inc.	Carbro Consti	ructors Corp.	Ritacco Cons	truction, Inc.	Roman E	kG Corp.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price I	Line Total	Unit Price L	ine Total	Unit Price l	ine Total
60 410-0001	277 S.Y.	Damp-proofing	\$30.00	\$8,310.00	\$110.00	\$30,470.00	\$75.00	\$20,775.00	\$50.00	\$13,850.00	\$100.00	\$27,700.00
61 415-0001	11,005.00 S.F.	Temporary Sheeting	\$35.00	\$385,175.00	\$40.00	\$440,200.00	\$5.00	\$55,025.00	\$30.00	\$330,150.00	\$10.00	\$110,050.00
62 415-0002	8,900.00 S.F.	Temporary Sheeting to Remain in Place	\$35.00	\$311,500.00	\$95.00	\$845,500.00	\$88.00	\$783,200.00	\$130.00	\$1,157,000.00	\$200.00	\$1,780,000.00
63 418-N0054	6 S.F.	Repair Spalled Concrete, Type 1 - Headwall	\$781.00	\$4,686.00	\$600.00	\$3,600.00	\$1,500.00	\$9,000.00	\$400.00	\$2,400.00	\$1,000.00	\$6,000.00
64 499-N0108	450,000.00 USD	Furnish 54 Inch CCFRPM Pipe (No-Bid)	\$1.00	\$450,000.00	\$1.00	\$450,000.00	\$1.00	\$450,000.00	\$1.00	\$450,000.00	\$1.00	\$450,000.00
65 499-N0110	250 L.F.	Install 54 Inch CCFRPM Pipe	\$517.00	\$129,250.00	\$295.00	\$73,750.00	\$650.00	\$162,500.00	\$600.00	\$150,000.00	\$500.00	\$125,000.00
66 499-N0181	600,000.00 USD	Furnish 60 inch CCFRPM Pipe, Location No. 1 (No-Bid)	\$1.00	\$600,000.00	\$1.00	\$600,000.00	\$1.00	\$600,000.00	\$1.00	\$600,000.00	\$1.00	\$600,000.00
67 499-N0182	250,000.00 USD	Furnish 60 inch CCFRPM Pipe, Location No. 5 (No-Bid)	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
68 499-N0183	110,000.00 USD	Furnish 18 inch CCFRPM Pipe (No-Bid)	\$1.00	\$110,000.00	\$1.00	\$110,000.00	\$1.00	\$110,000.00	\$1.00	\$110,000.00	\$1.00	\$110,000.00
70 499-N0185	50,000.00 USD	Furnish 69 inch CCFRPM Pipe (No-Bid)	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
71 499-N0186	38 L.F.	Install 69 inch CCFRPM Pipe	\$2,359.00	\$89,642.00	\$625.00	\$23,750.00	\$830.00	\$31,540.00	\$3,000.00	\$114,000.00	\$950.00	\$36,100.00
72 499-N0187	310,000.00 USD	Furnish 72 inch Steel Pipe Liner (No-Bid)	\$1.00	\$310,000.00	\$1.00	\$310,000.00	\$1.00	\$310,000.00	\$1.00	\$310,000.00	\$1.00	\$310,000.00
73 499-N0190	217 L.F.	Install 72 inch Steel Pipe Liner	\$1,299.00	\$281,883.00	\$1,225.00	\$265,825.00	\$850.00	\$184,450.00	\$2,000.00	\$434,000.00	\$2,000.00	\$434,000.00
74 499-N0191	284 L.F.	Pipe Lining Mortar, 73 in X 55 in	\$710.00	\$201,640.00	\$2,025.00	\$575,100.00	\$1,009.00	\$286,556.00	\$1,250.00	\$355,000.00	\$1,200.00	\$340,800.00
75 499-N0192	249 L.F.	Pipe Lining Mortar, 65 in X 40 in	\$710.00	\$176,790.00	\$1,450.00	\$361,050.00	\$1,009.00	\$251,241.00	\$1,250.00	\$311,250.00	\$1,000.00	\$249,000.00
76 502-0005	144 L.F.	15 in Reinforced Concrete Pipe, Class III	\$250.00	\$36,000.00	\$150.00	\$21,600.00	\$200.00	\$28,800.00	\$250.00	\$36,000.00	\$100.00	\$14,400.00
77 502-0006	687 L.F.	18 in Reinforced Concrete Pipe, Class III	\$280.00	\$192,360.00	\$400.00	\$274,800.00	\$220.00	\$151,140.00	\$260.00	\$178,620.00	\$125.00	\$85,875.00
78 502-0010	90 L.F.	24 in Reinforced Concrete Pipe, Class III	\$300.00	\$27,000.00	\$205.00	\$18,450.00	\$230.00	\$20,700.00	\$270.00	\$24,300.00	\$195.00	\$17,550.00
79 502-0012	208 L.F.	36 in Reinforced Concrete Pipe, Class III	\$360.00	\$74,880.00	\$275.00	\$57,200.00	\$300.00	\$62,400.00	\$280.00	\$58,240.00	\$200.00	\$41,600.00
80 502-0039	1,634.00 L.F.	60 inch Reinforced Concrete Pipe, Class V	\$675.00	\$1,102,950.00	\$1,250.00	\$2,042,500.00	\$900.00	\$1,470,600.00	\$700.00	\$1,143,800.00	\$925.00	\$1,511,450.00
81 502-0048	248 L.F.	66 in Reinforced Concrete Pipe, Class III	\$800.00	\$198,400.00	\$860.00	\$213,280.00	\$950.00	\$235,600.00	\$750.00	\$186,000.00	\$1,113.00	\$276,024.00
82 502-N0033	13 L.F.	54 inch CCFRPM Pipe Open Cut Installation	\$531.00	\$6,903.00	\$775.00	\$10,075.00	\$930.00	\$12,090.00	\$1,250.00	\$16,250.00	\$925.00	\$12,025.00
83 503-0003	6 Each	Inlet, Type D2	\$12,000.00	\$72,000.00	\$10,500.00	\$63,000.00	\$10,000.00	\$60,000.00	\$9,000.00	\$54,000.00	\$13,000.00	\$78,000.00
84 503-0011	12 Each	Manhole, Type P-1	\$12,000.00	\$144,000.00	\$10,725.00	\$128,700.00	\$8,300.00	\$99,600.00	\$8,000.00	\$96,000.00	\$13,000.00	\$156,000.00
85 503-0026	2 Each	New Inlet Frame & Grate, Type G2	\$3,000.00	\$6,000.00	\$3,100.00	\$6,200.00	\$3,250.00	\$6,500.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00
86 503-0253	3 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$12,000.00	\$36,000.00	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00	\$3,000.00	\$9,000.00	\$6,000.00	\$18,000.00
87 503-0254	5 Each	Reconstructed Inlet, Type D3, Using New Grate and Frame	\$12,000.00	\$60,000.00	\$4,750.00	\$23,750.00	\$5,150.00	\$25,750.00	\$3,250.00	\$16,250.00	\$6,000.00	\$30,000.00
88 503-N0031	17 Each	Drainage Box	\$47,000.00	\$799,000.00	\$70,000.00	\$1,190,000.00	\$45,000.00	\$765,000.00	\$115,000.00	\$1,955,000.00	\$60,000.00	\$1,020,000.00
89 504-0002	28 S.Y.	Concrete Gutter, 4 inches Thick	\$414.00	\$11,592.00	\$500.00	\$14,000.00	\$420.00	\$11,760.00	\$100.00	\$2,800.00	\$1,000.00	\$28,000.00
90 504-0011	15 C.Y.	Incidental Concrete	\$3,592.00	\$53,880.00	\$1,750.00	\$26,250.00	\$3,150.00	\$47,250.00	\$1,500.00	\$22,500.00	\$3,500.00	\$52,500.00
91 506-0001	50 L.F.	Concrete Curb, Type A	\$99.00	\$4,950.00	\$200.00	\$10,000.00	\$190.00	\$9,500.00	\$70.00	\$3,500.00	\$45.00	\$2,250.00
92 506-0005	20 L.F.	9in x 16in Concrete Vertical Curb	\$123.00	\$2,460.00	\$200.00	\$4,000.00	\$190.00	\$3,800.00	\$100.00	\$2,000.00	\$45.00	\$900.00
93 510-0001	1,533.00 L.F.	Beam Guide Rail	\$47.00	\$72,051.00	\$67.00	\$102,711.00	\$80.00	\$122,640.00	\$45.00	\$68,985.00	\$40.00	\$61,320.00
94 510-0008	328 L.F.	Reset Beam Guide Rail	\$44.00	\$14,432.00	\$120.00	\$39,360.00	\$31.00	\$10,168.00	\$40.00	\$13,120.00	\$45.00	\$14,760.00
95 510-0031	1,533.00 L.F.	Removal of Beam Guide Rail	\$1.00	\$1,533.00	\$15.00	\$22,995.00	\$5.00	\$7,665.00	\$1.00	\$1,533.00	\$1.00	\$1,533.00
96 511-N0025	483 L.F.	Reset Fence	\$61.00	\$29,463.00	\$50.00	\$24,150.00	\$63.00	\$30,429.00	\$60.00	\$28,980.00	\$35.00	\$16,905.00
97 516-0005	7,800.00 L.F.	Striping and Marking Removal, Hydromilling	\$1.00	\$7,800.00	\$1.25	\$9,750.00	\$1.65	\$12,870.00	\$2.00	\$15,600.00	\$2.00	\$15,600.00
98 516-0008	5,200.00 L.F.	Traffic Stripes, Long-Life, Epoxy Resin	\$1.00	\$5,200.00	\$1.25	\$6,500.00	\$1.65	\$8,580.00	\$1.25	\$6,500.00	\$2.00	\$10,400.00
99 516-0009	2,600.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$2.00	\$5,200.00	\$2.00	\$5,200.00	\$2.75	\$7,150.00	\$1.75	\$4,550.00	\$2.00	\$5,200.00
100 517-0003	1 L.S.	Furnish Field Office, Type C	\$30,000.00	\$30,000.00	\$43,000.00	\$43,000.00	\$273,840.00	\$273,840.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00
101 517-0009	54 Mnth	· · · · · · · · · · · · · · · · · · ·	\$3,000.00	\$162,000.00	\$8,700.00	\$469,800.00	\$500.00	\$27,000.00	\$2,250.00	\$121,500.00	\$1,500.00	\$81,000.00
102 517-0013	80,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
103 522-0001	30 Each	Test Pits	\$2,500.00	\$75,000.00	\$1,500.00	\$45,000.00	\$850.00	\$25,500.00	\$750.00	\$22,500.00	\$1,000.00	\$30,000.00
104 523-0004	300 L.F.	Clean Existing Storm Drain, 12in to 24in Diameter	\$35.00	\$10,500.00	\$40.00	\$12,000.00	\$14.50	\$4,350.00	\$30.00	\$9,000.00	\$20.00	\$6,000.00
105 523-0005	75 L.F.	Clean Existing Storm Drain, 27in to 48in Diameter	\$165.00	\$12,375.00	\$95.00	\$7,125.00	\$58.00	\$4,350.00	\$100.00	\$7,500.00	\$75.00	\$5,625.00
106 523-0007	284 L.F.	Clean Existing Storm Drain, 60in to 72in Diameter	\$147.00	\$41,748.00	\$71.00	\$20,164.00	\$49.00	\$13,916.00	\$300.00	\$85,200.00	\$60.00	\$17,040.00
107 523-0022	249 L.F.	Clean Existing Storm Drain, 54in to 60in Diameter	\$168.00	\$41,832.00	\$67.00	\$16,683.00	\$44.00	\$10,956.00	\$300.00	\$74,700.00	\$50.00	\$12,450.00
108 523-N0001	608 L.F.	Video Inspection of Pipes	\$5.00	\$3,040.00	\$40.00	\$24,320.00	\$9.00	\$5,472.00	\$10.00	\$6,080.00	\$35.00	\$21,280.00
109 523-N0002	105 Ton	Heavy Pipe Cleaning	\$758.00	\$79,590.00	\$200.00	\$21,000.00	\$380.00	\$39,900.00	\$2,000.00	\$210,000.00	\$225.00	\$23,625.00
110 524-N0070	1 Each	Repair and Reset Impact Attenuator, (Cartridge), 8 Bays, 24 in Wide	\$38,000.00	\$38,000.00	\$11,000.00	\$11,000.00	\$10,663.00	\$10,663.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
111 532-0001	2,500,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$2,500,000.00	\$1.00	\$2,500,000.00	\$1.00	\$2,500,000.00	\$1.00	\$2,500,000.00	\$1.00	\$2,500,000.00
112 532-N0020	100,000.00 USD	Force Account for Emergency and Routine Roadway Repairs, Location No. 1 (No-Bid)	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
113 532-N0021	150,000.00 USD	Force Account for Emergency and Routine Roadway Repairs, Location No. 2 (No-Bid)	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00
114 532-N0022	150,000.00 USD	Force Account for Emergency and Routine Roadway Repairs, Location No. 3 (No-Bid)	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00
115 534- 0009	250 L.F.	66 inch Trenchless Installation	\$5,200.00	\$1,300,000.00	\$11,300.00	\$2,825,000.00	\$9,000.00	\$2,250,000.00	\$4,400.00	\$1,100,000.00	\$7,500.00	\$1,875,000.00
116 534-0011	255 L.F.	36 inch Trenchless Installation	\$2,200.00	\$561,000.00	\$3,100.00	\$790,500.00	\$3,700.00	\$943,500.00	\$2,900.00	\$739,500.00	\$2,500.00	\$637,500.00
117 534-0013	210 L.F.	72 inch Trenchless Installation	\$4,000.00	\$840,000.00	\$4,200.00	\$882,000.00	\$3,500.00	\$735,000.00	\$5,100.00	\$1,071,000.00	\$3,500.00	\$735,000.00
118 534-N0017	505 L.F.	78 inch Trenchless Installation, Location No. 1A	\$3,650.00	\$1,843,250.00	\$4,800.00	\$2,424,000.00	\$5,100.00	\$2,575,500.00	\$4,300.00	\$2,171,500.00	\$5,500.00	\$2,777,500.00
120 599-N0132	400,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00
	.00,000.00 000		71.00	Ţ .00,000.00	71.00	÷ .00,000.00	71.00	Ţ .00,000.00	71.00	Ţ .00,000.00	71.00	Ţ .50,000.00

		BaseLine Item Detail	Joseph M.	Sanzari, Inc.	J. Fletcher Crea	amer & Son, Inc.	Carbro Const	tructors Corp.	Ritacco Con	struction, Inc.	Roman E	&G Corp.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
121 599-N0155	273 C.Y.	Gabion Wall	\$380.00	\$103,740.00	\$500.00	\$136,500.00	\$339.00	\$92,547.00	\$400.00	\$109,200.00	\$500.00	\$136,500.00
122 599-N0173	2,600,000.00 USD	Polyurethane Grout for Roadway Stabilization (No-Bid)	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00
123 599-N0235	336 L.F.	15 in High Density Polypropylene Pipe	\$280.00	\$94,080.00	\$300.00	\$100,800.00	\$180.00	\$60,480.00	\$110.00	\$36,960.00	\$115.00	\$38,640.00
124 599-N0254	119 L.F.	18 in High Density Polypropylene Pipe	\$366.00	\$43,554.00	\$325.00	\$38,675.00	\$250.00	\$29,750.00	\$120.00	\$14,280.00	\$95.00	\$11,305.00
125 703-0001	8,766.00 S.Y.	Topsoil	\$4.00	\$35,064.00	\$6.00	\$52,596.00	\$13.00	\$113,958.00	\$4.00	\$35,064.00	\$5.00	\$43,830.00
126 704-0001	6,702.00 S.Y.	Seeding, Type A	\$1.50	\$10,053.00	\$2.00	\$13,404.00	\$2.00	\$13,404.00	\$1.50	\$10,053.00	\$1.00	\$6,702.00
127 704-0002	4,120.00 S.Y.	Seeding, Type B	\$1.50	\$6,180.00	\$2.00	\$8,240.00	\$2.00	\$8,240.00	\$1.50	\$6,180.00	\$1.00	\$4,120.00
128 704-0007	1,000.00 S.Y.	Seeding, Type Wildflower	\$2.00	\$2,000.00	\$2.50	\$2,500.00	\$2.50	\$2,500.00	\$2.00	\$2,000.00	\$1.00	\$1,000.00
129 704-0016	4,023.00 S.Y.	Seeding, Type PL	\$2.00	\$8,046.00	\$2.00	\$8,046.00	\$2.00	\$8,046.00	\$1.50	\$6,034.50	\$1.00	\$4,023.00
130 705-0007	11 Each	Planting, Red Maple (Acer Rubrum)	\$750.00	\$8,250.00	\$1,050.00	\$11,550.00	\$820.00	\$9,020.00	\$750.00	\$8,250.00	\$1,000.00	\$11,000.00
131 705-N0002	1 L.S.	Plant Establishment and Maintenance Period	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,650.00	\$1,650.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
132 706-0001	8,532.00 S.Y.	Permanent Soil Stabilization Matting	\$4.00	\$34,128.00	\$6.00	\$51,192.00	\$6.00	\$51,192.00	\$4.00	\$34,128.00	\$5.00	\$42,660.00
133 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$550,000.00	\$550,000.00	\$325,000.00	\$325,000.00	\$1,251,629.00	\$1,251,629.00	\$1,885,844.50	\$1,885,844.50	\$1,500,000.00	\$1,500,000.00
134 801-0002	7,550.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$50.00	\$377,500.00	\$46.00	\$347,300.00	\$100.00	\$755,000.00	\$40.00	\$302,000.00	\$65.00	\$490,750.00
135 801-0003	7,550.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$41.00	\$309,550.00	\$60.00	\$453,000.00	\$60.00	\$453,000.00	\$30.00	\$226,500.00	\$50.00	\$377,500.00
136 801-0005	1,090.00 L.F.	Modular Glare Screen System	\$12.00	\$13,080.00	\$26.00	\$28,340.00	\$30.00	\$32,700.00	\$30.00	\$32,700.00	\$50.00	\$54,500.00
137 801-0009	3 Each	Furnishing Portable Variable Message Sign	\$10,000.00	\$30,000.00	\$25,000.00	\$75,000.00	\$2,500.00	\$7,500.00	\$7,500.00	\$22,500.00	\$15,000.00	\$45,000.00
138 801-0021	9 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$10,000.00	\$90,000.00	\$18,000.00	\$162,000.00	\$500.00	\$4,500.00	\$14,000.00	\$126,000.00	\$25,000.00	\$225,000.00
139 801-0022	9 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$14,000.00	\$126,000.00	\$7,300.00	\$65,700.00	\$500.00	\$4,500.00	\$4,500.00	\$40,500.00	\$10,000.00	\$90,000.00
140 801-0023	12 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$8,000.00	\$96,000.00	\$4,300.00	\$51,600.00	\$500.00	\$6,000.00	\$2,500.00	\$30,000.00	\$100.00	\$1,200.00
141 803-0032	50,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
142 803-N0006	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways, Location No. 2	\$413,272.00	\$413,272.00	\$525,000.00	\$525,000.00	\$154,800.00	\$154,800.00	\$60,000.00	\$60,000.00	\$178.00	\$178.00
143 534-N0004	146 L.F.	66 Inch Steel Pipe Trenchless Installation Location No. 1	\$5,400.00	\$788,400.00	\$5,700.00	\$832,200.00	\$5,300.00	\$773,800.00	\$4,500.00	\$657,000.00	\$6,000.00	\$876,000.00
				\$26,901,000.00		\$31,447,628.00		\$31,682,143.00	1	\$32,162,000.00		\$32,464,000.00

19-0-200			BaseLine Item Detail	Green Cons	truction, Inc.	Union Paving & Co	nstruction Co., Inc.	JR Cru	z Corp.	Spiniello C	Companies
240-0000 1.1. 1.5	Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
3,00000	1 104-0001	1 L.S.	Construction Layout	\$425,000.00	\$425,000.00	\$450,000.00	\$450,000.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00
1,000.000 1,000.00000 1,000.00000 1,000.00000 1,000.00000 1,000.0000000 1,000.00000 1,000.00000 1,000.00000 1,000.00000 1,000.000000 1,000.000000000000000000000000000000000	2 104-0002	1 L.S.	Mobilization	\$3,058,676.71	\$3,058,676.71	\$1,850,000.00	\$1,850,000.00	\$1,921,655.00	\$1,921,655.00	\$800,000.00	\$800,000.00
1 10 100 100 1 1 1 1 1	3 107-0001	1 L.S.	Progress Schedule	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00
12 1000	4 108-0001	12,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00
P. 20	5 108-N0004	2,000.00 USD	Steel Price Adjustment (No-Bid)	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
\$120 0007 \$1,000 000	6 201-0002	1 L.S.	Clearing and Grubbing	\$500,000.00	\$500,000.00	\$1,000,000.00	\$1,000,000.00	\$75,000.00	\$75,000.00	\$108,933.00	\$108,933.00
1922-0003 00,00000 00,0000 0	7 202-0002	2,512.00 C.Y.	Roadway Excavation, Earth	\$65.00	\$163,280.00	\$53.00	\$133,136.00	\$60.00	\$150,720.00	\$427.00	\$1,072,624.00
1 10 10 10 10 10 10 10	8 202-0007	1,140.00 C.Y.	Stripping Topsoil	\$45.00	\$51,300.00	\$60.00	\$68,400.00	\$60.00	\$68,400.00	\$165.00	\$188,100.00
1.91 1.91	9 202-0009	100,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1908-1000 97 C 1908 19	10 203-0001	4,656.00 C.Y.	Embankment, Common	\$25.00	\$116,400.00	\$23.00	\$107,088.00	\$60.00	\$279,360.00	\$436.00	\$2,030,016.00
129-0001 139-0001	11 203-0004	413 C.Y.	Porous Fill	\$75.00	\$30,975.00	\$100.00	\$41,300.00	\$75.00	\$30,975.00	\$90.00	\$37,170.00
1.00 1.00	12 203-N0002	976 C.Y.	Controlled Low Strength Material	\$500.00	\$488,000.00	\$425.00	\$414,800.00	\$350.00	\$341,600.00	\$320.00	\$312,320.00
12 07-0001	13 205-0001	4,380.00 C.Y.	Foundation Excavation	\$55.00	\$240,900.00	\$65.00	\$284,700.00	\$60.00	\$262,800.00	\$262.00	\$1,147,560.00
1977 1977 1978 1988	14 205-0002	160 C.Y.	Coarse Aggregate Layer	\$120.00	\$19,200.00	\$175.00	\$28,000.00	\$130.00	\$20,800.00	\$46.00	\$7,360.00
17 17 17 17 18 18 18 18	15 207-0001	24 Ton	Riprap Stone Slope Protection, 12in Thick, (D50=6in)	\$130.00	\$3,120.00	\$250.00	\$6,000.00	\$400.00	\$9,600.00	\$1,160.00	\$27,840.00
1927-1000 1987 100 plays plane Sour Hole, 12h Thick (100-fall) 57700 575000 131,0000 131,0000 138,0000	16 207-0004	99 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$130.00	\$12,870.00	\$220.00	\$21,780.00	\$400.00	\$39,600.00	\$1,160.00	\$114,840.00
13 077-1000 13 1070	17 207-0006	257 Ton	Riprap Stone Aprons, 24in Thick (D50=12in)	\$170.00	\$43,690.00	\$180.00	\$46,260.00	\$450.00	\$115,650.00	\$1,160.00	\$298,120.00
187 Total 187 Total	18 207-N0006	90 Ton	Riprap Stone Scour Hole, 12in Thick (D50-6in)	•							\$104,400.00
2007 400003 5 Ton Control Plancy All Thick (1504-12m) 51,000 51,000 51,000 51,000 51,000 52,0			• • •	•							\$218,080.00
22.08-0.008 300 LF				·							
22 18-00 18 18 18 18 18 19 19 19								· · · · · · · · · · · · · · · · · · ·			
22,08-0022				·		•				-	
2 / 2 / 2 / 3 / 3 / 3 / 3 / 3 / 3 / 3 /				•		•				-	
25 28 NOVICI 8 Eart Correct Walhout Facility \$2,000 0 \$20,000 0 \$34,000 0 \$34,000 0 \$50,000 \$40,000 0 \$35,00 0 \$23,300 0 \$23,300 0 \$23,000 0			• •	•		=					
22 088-M0002 56 Em		•	•	•		•					
27 208 N00009 8 I abl Oll Owly Invergency Spill RIC Type 1 \$1,100 00 \$8,800 00 \$1,000 00 \$8,000 00 \$3,000 00			•					·			
28 208-N0016 1 L.S. Stream Diversion - Location No. 1 \$320,000.00 \$350,000.00 \$350,000.00 \$75,000.00 \$75,000.00 \$75,000.00 \$35,000.00 \$30,000.00<			5								
29 20 20 20 20 20 20 20			, , , , , , , , , , , , , , , , , , , ,								
30 008-M0018											
31 208-M0021 150 Each Hay Baller \$55.00 \$83,250.00 \$53,250.00 \$54.00 \$56,000.00 \$34.00 \$38,030.00 \$32.00											
32 208-M0022											
3 208-N0023 1 L.S. Stream Diversion - Location No. 5			<i>,</i>	•		·				· ·	
3		•		· ·				•			
\$5 213-0002											
36 214-N00001			<u> </u>								
37 214-N0002								•		•	
38 299-N0013			, 5								
39 299-N0013 168 S.Y. Geosynthetic Embankment Reinforcement \$250.00 \$42,000.00 \$75.00 \$12,600.00 \$30.00 \$5,040.00 \$34.00 \$55,712.00 \$40 299-N0014 Z5 Ton Boulder \$570.00 \$13,750.00 \$12,150.00 \$10,000.00 \$75.00 \$12,150.00 \$10,000.00 \$75.00 \$12,100.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00 \$12,000.00 \$75.00			,								
40 299-N0014 25 Ton Boulder \$75.00 \$18,75.00 \$18,75.00 \$10,00.00 \$30,000 \$57.500.0 \$1,040.00 \$2,000.00 \$1,040.00 \$1,								· · · · · · · · · · · · · · · · · · ·			
41 299-N0015			·								
42 302-0002											
43 302-0004 1,755.00 Ton Hot Mix Asphalt 25M64 Base Course \$150.00 \$263,250.00 \$10,500.0											
44 302-0063 10,500.00 USD Asphalt Price Adjustment (No-Bid) \$1.00 \$10,500.00 \$1.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$10,500.00 \$1.00 \$1.00 \$10,500.00 \$			·	·							
45 302-0071 1,200.00 L.F. Polymerized Joint Adhesive \$5.00 \$6,000.00 \$1.00 \$1,200.00 \$8.00 \$9,600.00 \$5.00 \$6,000.00 \$46 302-N0007 160 GAL Trackless Tack Coat \$12.00 \$1,920.00 \$10.00 \$1,600.00 \$30.00 \$4,800.00 \$11.00 \$1,760.00 \$1,700.00			•								
46 302-N0007 160 GAL Trackless Tack Coat \$12.00 \$1,920.00 \$10.00 \$1,600.00 \$30.00 \$4,800.00 \$11.00 \$1,600.00 47 303-0001 317 S.Y. Berm Surfacing, 3 Inches Thick \$70.00 \$22,190.00 \$70.00 \$22,190.00 \$70.00 \$22,190.00 \$80.00 \$25,360.00 48 305-0003 1,600.00 S.Y. Pavement Removal, 2 1/2in Depth \$20.00 \$32,000.00 \$15.00 \$24,000.00 \$15.00 \$22,190.00 \$30.00 \$24,000.00 \$15.00 \$20.00 \$20.00 \$32,000.00 \$1.00 \$24,000.00 \$31.00 \$24,000.00 \$40.00 \$372,400.00 \$31.00 \$24,600.00 \$40.00 \$372,400.00 \$372,400.00 \$372,400.00 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$40,000 \$49,600.00 \$49,600.00 \$49,600.00 \$49,600.00 \$40,000 \$49,600.00 \$40,000 \$40,000 \$40,000 \$40,000 \$40,000 \$40,000		·									
47 303-0001 317 S.Y. Berm Surfacing, 3 Inches Thick \$70.00 \$22,190.00 \$70.00 \$22,190.00 \$70.00 \$22,190.00 \$70.00 \$22,190.		·	·			•				•	
48 305-0003 1,600.00 S.Y. Pavement Removal, 2 1/2in Depth \$20.00 \$32,000.00 \$15.00 \$24,000.00 \$31.00 \$49,600.00 49 401-0003 133 C.Y. Concrete in Retaining Wall \$2,900.00 \$385,700.00 \$4,000.00 \$532,000.00 \$22,800.00 \$31.00 \$49,600.00 50 401-0004 37,004.00 LB Reinforcement Steel, Galvanized \$2.50 \$92,510.00 \$2.00 \$74,008.00 \$2.50 \$92,510.00 \$49,800.00 \$675.00 \$92,510.00 \$49,600.00 51 401-0016 83 C.Y. Concrete in Leveling Slab \$1,300.00 \$13,000.00 \$10,000.00 \$600.00 \$49,800.00 \$675.00 \$56,025.00 \$10,780.00 \$89,474.00 52 401-0032 258 C.Y. Concrete in Footings \$1,300.00 \$335,400.00 \$1,000.00 \$258,000.00 \$750.00 \$193,500.00 \$61,080.00 \$41,444.00 \$40.100.00 \$92,000.00 \$750.00 \$193,500.00 \$62,008.00 \$62,008.00 \$65,008.00 \$65,000.00 \$99,000.00 \$99,000.00 \$65,000.00 \$65,000.00 \$99,891.00 \$1											
49 401-0003 133 C.Y. Concrete in Retaining Wall \$2,900.00 \$385,700.00 \$4,000.00 \$532,000.00 \$2,800.00 \$372,400.00 \$1,628.00 \$216,524.00 50 401-0040 37,004.00 LB Reinforcement Steel, Galvanized \$2.50 \$92,510.00 \$2.00 \$74,008.00 \$2.50 \$92,510.00 \$4.75 \$175,769.00 51 401-0016 83 C.Y. Concrete in Leveling Slab \$1,300.00 \$107,900.00 \$600.00 \$49,800.00 \$675.00 \$56,025.00 \$1,078.00 \$89,474.00 52 401-0032 258 C.Y. Concrete In Footings \$1,300.00 \$11,960.00 \$10,000.00 \$258,000.00 \$75.00 \$5,500.00 \$40,600.00 \$41,440.00 54 401-N0023 20,198.00 C.F. Hydraulic-Cement Bar Coupler, Galvanized \$130.00 \$807,920.00 \$90,891.00 \$51,000.00 \$50				•							
50 401-0004 37,004.00 LB Reinforcement Steel, Galvanized \$2.50 \$92,510.00 \$2.00 \$74,008.00 \$2.50 \$99,510.00 \$4.75 \$175,769.00 51 401-0016 83 C.Y. Concrete in Leveling Slab \$1,300.00 \$107,900.00 \$600.00 \$49,800.00 \$675.00 \$56,025.00 \$1,078.00 \$89,474.00 52 401-032 258 C.Y. Concrete In Footings \$1,300.00 \$335,400.00 \$1,000.00 \$258,000.00 \$75.00 \$193,500.00 \$41,744.00 53 401-N0009 92 Each Reinforcement Bar Coupler, Galvanized \$130.00 \$11,960.00 \$100.00 \$9,200.00 \$65.00 \$5,980.00 \$674.00 \$62,008.00 54 401-N0023 20,198.00 C.F. Hydraulic-Cement Grout \$40.00 \$807,920.00 \$45.00 \$90,910.00 \$119.00 \$2,403,562.00 \$43.00 \$868,514.00 55 405-0002 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$60,000.00 \$500,000.00 \$250,000.00 \$250,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$102,000.00 \$1			•	•							
51 401-0016 83 C.Y. Concrete in Leveling Slab \$1,300.00 \$107,900.00 \$600.00 \$49,800.00 \$655.00 \$56,025.00 \$1,078.00 \$89,474.00 52 401-0032 258 C.Y. Concrete In Footings \$1,300.00 \$335,400.00 \$1,000.00 \$258,000.00 \$750.00 \$193,500.00 \$1,744.00 53 401-N0009 92 Each Reinforcement Bar Coupler, Galvanized \$130.00 \$11,960.00 \$100.00 \$9,200.00 \$65.00 \$5,980.00 \$674.00 \$62,008.00 54 401-N0023 20,198.00 C.F. Hydraulic-Cement Grout \$40.00 \$807,920.00 \$45.00 \$908,910.00 \$119.00 \$2,403,562.00 \$43.00 \$868,514.00 55 405-0002 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$60,000.00 \$500,000.00 \$500,000.00 \$250,000.00 \$250,000.00 \$102,000.00 </td <td></td>											
52 401-0032 258 C.Y. Concrete In Footings \$1,300.00 \$335,400.00 \$1,000.00 \$258,000.00 \$193,500.00 \$1,618.00 \$417,444.00 53 401-N0009 92 Each Reinforcement Bar Coupler, Galvanized \$130.00 \$11,960.00 \$100.00 \$9,200.00 \$65.00 \$5,980.00 \$674.00 \$62,008.00 54 401-N0023 20,198.00 C.F. Hydraulic-Cement Grout \$40.00 \$807,920.00 \$45.00 \$908,910.00 \$119.00 \$2,403,562.00 \$43.00 \$868,514.00 55 405-0002 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$500,000.00 \$500,000.00 \$250,000.00 \$102,000.00 \$102,000.00 56 405-0018 1,491.00 L.F. Furnishing Steel Piles, HP12X53 \$90.00 \$110,334.00 \$55.00 \$96,915.00 \$80.00 \$119,280.00 \$67.00 \$99,897.00 57 405-0019 1,491.00 L.F. Driving Steel Piles, HP12X53 \$74.00 \$110,334.00 \$55.00 \$82,005.00 \$60.00 \$89,460.00 \$99,897.00 58 405-0020 236 L.F. Steel HP12X53 Test Piles \$175.00 \$41,300.00 \$265.00 \$62,540.00 \$165.00 \$38,940.00 \$315.00 \$74,340.00		·	•								
53 401-N0009 92 Each Reinforcement Bar Coupler, Galvanized \$130.00 \$11,960.00 \$100.00 \$9,200.00 \$65.00 \$5,980.00 \$674.00 \$62,008.00 54 401-N0023 20,198.00 C.F. Hydraulic-Cement Grout \$40.00 \$807,920.00 \$45.00 \$908,910.00 \$119.00 \$2,403,562.00 \$43.00 \$868,514.00 55 405-0002 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$500,000.00 \$500,000.00 \$250,000.00 \$102,000.00 \$102,000.00 56 405-0018 1,491.00 L.F. Furnishing Steel Piles, HP12X53 \$90.00 \$110,334.00 \$55.00 \$96,915.00 \$80.00 \$119,280.00 \$99,897.00 57 405-0019 1,491.00 L.F. Driving Steel Piles, HP12X53 \$74.00 \$110,334.00 \$55.00 \$82,005.00 \$89,460.00 \$99,897.00 58 405-0020 236 L.F. Steel HP12X53 Test Piles \$175.00 \$41,300.00 \$265.00 \$62,540.00 \$165.00 \$38,940.00 \$315.00 \$74,340.00			_								
54 401-N0023 20,198.00 C.F. Hydraulic-Cement Grout \$40.00 \$807,920.00 \$45.00 \$908,910.00 \$119.00 \$2,403,562.00 \$43.00 \$868,514.00 55 405-0002 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$500,000.00 \$500,000.00 \$250,000.00 \$102,0			•								\$417,444.00
55 405-0002 1 L.S. Furnishing Equipment for Driving Piles \$60,000.00 \$500,000.00 \$500,000.00 \$250,000.00 \$102,000.00 \$102,000.00 56 405-0018 1,491.00 L.F. Furnishing Steel Piles, HP12X53 \$90.00 \$134,190.00 \$65.00 \$96,915.00 \$80.00 \$119,280.00 \$120,771.00 57 405-0019 1,491.00 L.F. Driving Steel Piles, HP12X53 \$74.00 \$110,334.00 \$55.00 \$82,005.00 \$60.00 \$89,460.00 \$99,897.00 58 405-0020 236 L.F. Steel HP12X53 Test Piles \$175.00 \$41,300.00 \$265.00 \$62,540.00 \$165.00 \$38,940.00 \$315.00 \$74,340.00			•								\$62,008.00
56 405-0018 1,491.00 L.F. Furnishing Steel Piles, HP12X53 \$90.00 \$134,190.00 \$65.00 \$96,915.00 \$80.00 \$119,280.00 \$120,771.00 57 405-0019 1,491.00 L.F. Driving Steel Piles, HP12X53 \$74.00 \$110,334.00 \$55.00 \$82,005.00 \$60.00 \$89,460.00 \$99,897.00 58 405-0020 236 L.F. Steel HP12X53 Test Piles \$175.00 \$41,300.00 \$265.00 \$62,540.00 \$165.00 \$38,940.00 \$315.00 \$74,340.00			•								\$868,514.00
57 405-0019 1,491.00 L.F. Driving Steel Piles, HP12X53 \$74.00 \$110,334.00 \$55.00 \$82,005.00 \$60.00 \$89,460.00 \$99,897.00 \$8405-0020 236 L.F. Steel HP12X53 Test Piles \$175.00 \$41,300.00 \$265.00 \$62,540.00 \$165.00 \$38,940.00 \$74,340.00								\$250,000.00			\$102,000.00
58 405-0020 236 L.F. Steel HP12X53 Test Piles \$175.00 \$41,300.00 \$265.00 \$62,540.00 \$165.00 \$38,940.00 \$74,340.00											\$120,771.00
		1,491.00 L.F.		•							\$99,897.00
59 405-0091 4 Each Dynamic Pile Load Tests \$6,000.00 \$24,000.00 \$3,500.00 \$14,000.00 \$5,000.00 \$20,000.00 \$4,000.00 \$16,000.00		236 L.F.								\$315.00	\$74,340.00
	59 405-0091	4 Each	Dynamic Pile Load Tests	\$6,000.00	\$24,000.00	\$3,500.00	\$14,000.00	\$5,000.00	\$20,000.00	\$4,000.00	\$16,000.00

	\$35.00 \$9, \$162.00 \$1,782,	\$13,850.00			Unit Price	Line Total	Unit Price	LIOM Description	Unit Code Otv
64 15 0001	\$162.00 \$1,782,		\$50.00					·	
15 15 15 15 15 15 15 15		4	\$30.00	\$18,005.00	\$65.00	\$33,240.00	\$120.00	277 S.Y. Damp-proofing	0 410-0001
18 18 18 19 18 18 18 18		\$660,300.00	\$60.00	\$1,485,675.00	\$135.00	\$825,375.00	\$75.00	L,005.00 S.F. Temporary Sheeting	1 415-0001
64 99-N01101 250 1.50 1.50 5450,000.00 5400 5450,000.00 5400 5450,000.00 5450,00	\$182.00 \$1,619,		\$110.00	\$1,246,000.00	\$140.00	\$979,000.00	\$110.00	3,900.00 S.F. Temporary Sheeting to Remain in Place	2 415-0002
Bey-N-N-110	\$543.00 \$3,	\$6,000.00	\$1,000.00	\$3,000.00	\$500.00	\$720.00	\$120.00	· · · · · · · · · · · · · · · · · · ·	
649 MOLES 600,000 US Furnish 60 inch CCFRM Pipe, Location No. 51 No Bid) \$50,000 US \$	\$1.00 \$450,	\$450,000.00	\$1.00	\$450,000.00	\$1.00	\$450,000.00	\$1.00	0,000.00 USD Furnish 54 Inch CCFRPM Pipe (No-Bid)	4 499-N0108 4
Page	\$295.00 \$73,	\$75,000.00	\$300.00	\$100,000.00	\$400.00	\$225,000.00	\$900.00	250 L.F. Install 54 Inch CCFRPM Pipe	5 499-N0110
14 09-40158 10,000.00 15 10,000.00 15 10,000.00 10 11,000.00	\$1.00 \$600,	\$600,000.00	\$1.00	\$600,000.00	\$1.00	\$600,000.00	\$1.00	0,000.00 USD Furnish 60 inch CCFRPM Pipe, Location No. 1 (No-Bid)	6 499-N0181 60
74.99+0.0158 50,000.00 50,000.00 51,000 50,000.00 51,000 50,000.00 51,000 50,000.00 51,000.00	\$1.00 \$250,	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	0,000.00 USD Furnish 60 inch CCFRPM Pipe, Location No. 5 (No-Bid)	7 499-N0182 2
74.99+0.018	\$1.00 \$110,	\$110,000.00	\$1.00	\$110,000.00	\$1.00	\$110,000.00	\$1.00	0,000.00 USD Furnish 18 inch CCFRPM Pipe (No-Bid)	8 499-N0183 1:
72 499-MOIR 31,0000.00 USP Furth h 72 linds 1self Pipe Liner (No-Bid) 531,0000.00 531,000 53	\$1.00 \$50,	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	0,000.00 USD Furnish 69 inch CCFRPM Pipe (No-Bid)	0 499-N0185
74 499-N0190	\$782.00 \$29,	\$60,800.00	\$1,600.00	\$22,800.00	\$600.00	\$32,300.00	\$850.00	38 L.F. Install 69 inch CCFRPM Pipe	1 499-N0186
74 499 N0191	\$1.00 \$310,	\$310,000.00	\$1.00	\$310,000.00	\$1.00	\$310,000.00	\$1.00	0,000.00 USD Furnish 72 inch Steel Pipe Liner (No-Bid)	2 499-N0187 3:
75 499-N0192	\$725.00 \$157,	\$184,450.00	\$850.00	\$195,300.00	\$900.00	\$759,500.00	\$3,500.00	217 L.F. Install 72 inch Steel Pipe Liner	3 499-N0190
75 02-0005	\$1,475.00 \$418,	\$383,400.00	\$1,350.00	\$397,600.00	\$1,400.00	\$227,200.00	\$800.00	284 L.F. Pipe Lining Mortar, 73 in X 55 in	4 499-N0191
Product	\$1,430.00 \$356,	\$281,370.00	\$1,130.00	\$298,800.00	\$1,200.00	\$199,200.00	\$800.00	249 L.F. Pipe Lining Mortar, 65 in X 40 in	5 499-N0192
78 502-0010 90 L.F. 24 in Reinforced Concrete Pipe, Class III \$300.00 \$27,000.00 \$285.00 \$25,650.00 \$56,000.00 \$54,000.00 \$54,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$58,000.00 \$52,000.00	\$248.00 \$35,	\$72,000.00	\$500.00	\$28,800.00	\$200.00	\$25,200.00	\$175.00	144 L.F. 15 in Reinforced Concrete Pipe, Class III	6 502-0005
Page	\$247.00 \$169,	\$377,850.00	\$550.00	\$188,925.00	\$275.00	\$127,095.00	\$185.00	687 L.F. 18 in Reinforced Concrete Pipe, Class III	7 502-0006
80 502-0039	\$284.00 \$25,	\$54,000.00	\$600.00	\$25,650.00	\$285.00	\$27,000.00	\$300.00	90 L.F. 24 in Reinforced Concrete Pipe, Class III	8 502-0010
81 502-0048	\$340.00 \$70,	\$130,000.00	\$625.00	\$61,360.00	\$295.00	\$78,000.00	\$375.00	208 L.F. 36 in Reinforced Concrete Pipe, Class III	9 502-0012
82 502-N0033 13 LF. 54 Inch CCFRPM Pipe Open Cut Installation \$500.00 \$5,00.00	\$633.00 \$1,034,	\$2,042,500.00	\$1,250.00	\$1,102,950.00	\$675.00	\$1,225,500.00	\$750.00	L,634.00 L.F. 60 inch Reinforced Concrete Pipe, Class V	0 502-0039
83 503-0003 6 Each for Inlet, Type D2 Inlet, Type D2 \$7,500.00 \$45,000.00 \$10,000.00 \$30,000.00 \$50,000.00 \$9,000.00 \$54,000.00 85 503-0026 2 Each for Investigating the Well of Frame & Grate, Type G2 \$25,000.00 \$5,000	\$1,025.00 \$254,	\$322,400.00	\$1,300.00	\$163,680.00	\$660.00	\$198,400.00	\$800.00	248 L.F. 66 in Reinforced Concrete Pipe, Class III	1 502-0048
8 503-0003	\$2,247.00 \$29,	\$6,825.00	\$525.00			\$6,500.00	\$500.00	13 L.F. 54 inch CCFRPM Pipe Open Cut Installation	2 502-N0033
85 503-0026 2 Each New Inlet Frame & Grate, Type G2 \$2,500.00 \$5,000.00 \$3,000.00 \$6,000.00 \$2,650.00 \$5,000.00 86 503-0253 3 Each Reconstructed linlet, Type D2, Using New Grate and Frame \$3,500.00 \$10,500.00 \$4,000.00 \$20,000.00 \$5,500.00	\$15,500.00 \$93,		\$9,000.00	\$60,000.00	\$10,000.00		\$7,500.00	6 Each Inlet, Type D2	3 503-0003
86 503-0253 3 Each 8 503-0254 Reconstructed Inlet, Type D2, Using New Grate and Frame 93,500.00 \$10,500.00 \$4,000.00 \$12,000.00 \$5,500.00 \$21,500.00 87 503-0254 5 Each Pack 12 Each 12 Each Drainage Box \$35,000.00 \$17,500.00 \$17,500.00 \$57,500.00 \$57,500.00 \$17,500.00 \$57,500.	\$26,300.00 \$315,	\$114,000.00	\$9,500.00	\$360,000.00	\$30,000.00	\$120,000.00	\$10,000.00	12 Each Manhole, Type P-1	4 503-0011
86 503-0253 3 Each 8 503-0254 Reconstructed Inlet, Type D2, Using New Grate and Frame 93,500.00 \$10,500.00 \$4,000.00 \$12,000.00 \$5,500.00 \$21,500.00 87 503-0254 5 Each Pack 12 Each 12 Each Drainage Box \$35,000.00 \$17,500.00 \$17,500.00 \$57,500.00 \$57,500.00 \$17,500.00 \$57,500.	\$6,800.00 \$13,			\$6,000.00		\$5,000.00		2 Each New Inlet Frame & Grate, Type G2	5 503-0026
87 503-0254 5 Each Reconstructed Inlet, Type D3, Using New Grate and Frame \$3,500.00 \$17,500.00 \$4,000.00 \$20,000.00 \$5,500.00 \$27,500.00 88 503-N0031 17 Each Drainage Box Drainage Box \$75,000.00 \$12,75,000.00 \$57,500.00 \$51,200.00 \$57,500.00 \$51,200.00 \$67,500.00 \$51,407,500.00 \$38,000.00 \$50,000.00 \$50,000 \$57,000.00 \$51,407,500.00 \$50,000 \$50,000.00 \$50,000.00 \$50,000	\$12,700.00 \$38,							• •	6 503-0253
88 503-N0031 17 Each by Drainage Box S75,000.00 \$1,275,000.00 \$1,275,000.00 \$67,500.00 \$1,147,500.00 89 504-0002 28 S.Y. Concrete Gutter, 4 inches Thick 3365.00 \$10,220.00 \$675,00 \$18,900.00 \$330.00 \$9,800.00 90 504-0011 15 C.Y. Incidental Concrete \$400.00 \$6,000.00 \$33,000.00 \$49,500.00 \$23,000.00 \$34,500.00 91 506-0001 50 L.F. Concrete Curb, Type A \$100.00 \$5,000.00 \$50,000.00 \$40,000.00 \$20,000.00	\$12,700.00 \$63,								
89 504-0002 28 S.Y. Concrete Gutter, 4 inches Thick \$365.00 \$10,20.00 \$675.00 \$18,900.00 \$350.00 \$9,800.00 90 504-0011 15 C.Y. Incidental Concrete \$400.00 \$6,000.00 \$3,300.00 \$49,500.00 \$2,300.00 \$34,500.00 91 506-0001 50 L.F. Oncrete Curb, Type A \$100.00 \$5,000.00 \$80.00 \$2,000.00 \$200.00 \$200.00 \$4,000.00 92 506-0005 20 L.F. 9in x 16in Concrete Vertical Curb \$100.00 \$2,000.00 \$200.00 \$200.00 \$4,000.00 93 510-0001 1,533.00 L.F. Beam Guide Rail \$50.00 \$17,056.00 \$50.00 \$16,400.00 \$50.00 \$50.00	\$97,200.00 \$1,652,							, ,, ,	
90 504-0011 15 C.Y. Incidental Concrete	\$680.00 \$19,							<u> </u>	
91 506-0001 50 L.F. Concrete Curb, Type A \$100.00 \$5,000.00 \$80.00 \$4,000.00 \$20.00 \$10,000.00 \$20,	\$1,750.00 \$26,				· ·		·		
92 506-0005 20 L.F. 9in x 16in Concrete Vertical Curb \$100.00 \$2,000.00 \$100.00 \$2,000.00 \$2,000.00 \$2,000.00 \$4,000.00 93 510-0001 1,533.00 L.F. Beam Guide Rail \$50.00 \$76,650.00 \$52.00 \$79,716.00 \$50.00 \$76,650.00 94 510-0081 328 L.F. Reset Beam Guide Rail \$50.00 \$11,056.00 \$50.00 \$16,400.00 \$10,600.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$50.00 \$10,600.00 \$50.00 \$10,600.00 \$50.00 \$10,600.00 \$50.00 \$10,600.00 \$50.00 \$10,600.00 \$50.00 \$10,600.00 \$50.00 \$10,600.00 \$10,600.00 \$10,533.00 \$4,000.00 \$50.00 \$10,600.00 \$10,600.00 \$10,533.00 \$4,000.00 \$10,533.00 \$4,000.00 \$10,533.00 \$4,000.00 \$10,600.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.00 \$10,533.	\$240.00 \$12,								
93 510-0001 1,533.00 L.F. Beam Guide Rail \$50.00 \$76,650.00 \$77,600.00 \$77,600.00 \$7	\$820.00 \$16,				·			, n	
94 510-0008 328 L.F. Reset Beam Guide Rail \$52.00 \$17,056.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$50.00 \$16,400.00 \$1,533.00 \$40.00 \$1,533.00 \$4.00 \$6,132.00 \$1.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,533.00 \$4.00 \$1,500 \$50.00 \$50.00 \$24,150.00 \$4.00 \$1,533.00 \$2.50 \$11,700.00 \$50.00 \$24,150.00 \$4.00 \$1,500.00 \$1.50 \$1,700.00 \$2.00 \$2.00 \$15,600.00 \$1.50 \$1,700.00 \$2.00 \$1.50 \$1,500.00 \$1.50 \$1,700.00 \$1.50 \$1,500.00 \$1.50 \$1,500.00 \$1.50 \$1,500.00 \$1.50 \$1,500.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.00 \$2.	\$53.00 \$81,						·		
95 510-0031 1,533.00 L.F. Removal of Beam Guide Rail \$1.00 \$1,533.00 \$4.00 \$6,132.00 \$1.00 \$1,533.00 96 511-N0025 483 L.F. Reset Fence \$40.00 \$19,320.00 \$25.00 \$12,075.00 \$50.00 \$24,150.00 97 516-0005 7,800.00 L.F. Striping and Marking Removal, Hydromilling \$2.25 \$17,550.00 \$1.50 \$11,700.00 \$2.00 \$15,600.00 98 516-0008 5,200.00 L.F. Traffic Stripes, Long-Life, Epoxy Resin \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$2.25 \$5,850.00 \$2.25 \$5,850.00 \$2.25 \$5,850.00 \$2.25 \$5,850.00 \$2.25	\$60.00 \$19,		•				•		
96 511-N0025 483 L.F. Reset Fence \$40.00 \$19,320.00 \$25.00 \$12,075.00 \$50.00 \$24,150.00 97 516-0005 7,800.00 L.F. Striping and Marking Removal, Hydromilling \$2.25 \$17,550.00 \$1.50 \$11,700.00 \$2.00 \$15,600.00 98 516-0008 5,200.00 L.F. Traffic Stripes, Long-Life, Epoxy Resin \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$1,800.00 \$1.50 \$1,800.00 \$2.50 \$1.50 \$1,800.00 \$2.50 \$1.50 \$1,800.00 \$2.500.00 \$2.500.00 \$2.500.00 \$2.500.00 \$2.500.00 \$2.500.00	\$1.00 \$1,						•		
97 516-0005 7,800.00 L.F. Striping and Marking Removal, Hydromilling \$2.25 \$17,550.00 \$1.50 \$11,700.00 \$2.00 \$15,600.00 98 516-0008 5,200.00 L.F. Traffic Stripes, Long-Life, Epoxy Resin \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50 \$7,800.00 \$1.50	\$72.00 \$34,		•			• •	=		
98 516-0008 5,200.00 L.F. Traffic Stripes, Long-Life, Epoxy Resin \$1.50 \$7,800.00 \$1.50 \$7,800.00 99 516-0009 2,600.00 L.F. Traffic Stripes, Long-Life, Thermoplastic \$2.30 \$5,980.00 \$2.25 \$5,850.00 \$2.25 \$5,850.00 100 517-0003 1 L.S. Furnish Field Office, Type C \$85,000.00 \$85,000.00 \$25,000.00 \$20,000.00 \$20,000.00 101 517-0009 54 Mnth Maintain Field Office, Type C \$9,600.00 \$518,400.00 \$600.00 \$32,400.00 \$2,500.00 \$135,000.00 102 517-0013 80,000.00 USD Furnish Office Supplies (No-Bid) \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$2,750.00 \$82,500.00 103 522-0001 30 Each Test Pits \$1,200.00 \$36,000.00 \$1,500.00 \$45,000.00 \$2,750.00 \$82,500.00 104 523-0004 300 L.F. Clean Existing Storm Drain, 12in to 24in Diameter \$90.00 \$6,600.00 \$1.00 \$3,000.00 \$9,000.00 \$5,250.00	\$2.60 \$20,		•				•		
99 516-0009	\$1.80 \$9,		•						
100 517-0003 1 L.S. Furnish Field Office, Type C \$85,000.00 \$25,000.00 \$20,000.00 \$20,000.00 101 517-0009 54 Mnth Maintain Field Office, Type C \$9,600.00 \$518,400.00 \$600.00 \$32,400.00 \$25,000.00 \$135,000.00 102 517-0013 80,000.00 USD Furnish Office Supplies (No-Bid) \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00	\$2.00 \$5,	. ,	•		•	. ,	•	, , , , , , , , , , , , , , , , , , , ,	
101 517-0009 54 Mnth Maintain Field Office, Type C \$9,600.00 \$518,400.00 \$600.00 \$32,400.00 \$2,500.00 \$135,000.00 102 517-0013 80,000.00 USD Furnish Office Supplies (No-Bid) \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00 \$80,000.00 \$1.00	190,000.00 \$190,								
102 517-0013 80,000.00 USD Furnish Office Supplies (No-Bid) \$1.00 \$80,000.00 \$1.00 \$80,000.00 103 522-0001 30 Each Test Pits \$1,200.00 \$36,000.00 \$1,500.00 \$45,000.00 \$2,750.00 \$82,500.00 104 523-0004 300 L.F. Clean Existing Storm Drain, 12in to 24in Diameter \$22.00 \$6,600.00 \$10.00 \$3,000.00 \$30.00 \$9,000.00 105 523-0005 75 L.F. Clean Existing Storm Drain, 27in to 48in Diameter \$90.00 \$6,750.00 \$25.00 \$1,875.00 \$70.00 \$5,250.00	\$2,000.00 \$108,							· ··	
103 522-0001 30 Each Test Pits \$1,200.00 \$36,000.00 \$1,500.00 \$45,000.00 \$2,750.00 \$82,500.00 104 523-0004 300 L.F. Clean Existing Storm Drain, 12in to 24in Diameter \$22.00 \$6,600.00 \$10.00 \$3,000.00 \$30.00 \$9,000.00 105 523-0005 75 L.F. Clean Existing Storm Drain, 27in to 48in Diameter \$90.00 \$6,750.00 \$25.00 \$1,875.00 \$70.00 \$5,250.00	\$1.00 \$80,							•	
104 523-0004 300 L.F. Clean Existing Storm Drain, 12in to 24in Diameter \$22.00 \$6,600.00 \$10.00 \$3,000.00 \$9,000.00 105 523-0005 75 L.F. Clean Existing Storm Drain, 27in to 48in Diameter \$90.00 \$6,750.00 \$25.00 \$1,875.00 \$70.00 \$5,250.00	\$2,300.00 \$69,								
105 523-0005 75 L.F. Clean Existing Storm Drain, 27in to 48in Diameter \$90.00 \$6,750.00 \$25.00 \$1,875.00 \$70.00 \$5,250.00	\$2,300.00 \$69,								
	\$154.00 \$15,				·				
100 323-0007 204 c.i. Cicali existing storin prain, opin to 7211 prainteter \$35,020.00 \$24,000.00 \$14,200.00 \$55.00 \$15,020.00	\$154.00 \$11,								
107 523-0022 249 L.F. Clean Existing Storm Drain, 54in to 60in Diameter \$325.00 \$80,925.00 \$45.00 \$11,205.00 \$50.00 \$12,450.00							·		
	\$143.00 \$35,								
108 523-N0001 608 L.F. Video Inspection of Pipes \$14.00 \$8,512.00 \$10.00 \$6,080.00 \$12.00 \$7,296.00	\$13.00 \$7,						•	· · · · · · · · · · · · · · · · · · ·	
109 523-N0002 105 Ton Heavy Pipe Cleaning \$2,400.00 \$252,000.00 \$350.00 \$36,750.00 \$500.00 \$52,500.00	\$662.00 \$69,								
110 524-N0070	\$675.00 \$								
111 532-0001 2,500,000.00 USD Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid) \$1.00 \$2,500,000.00	\$1.00 \$2,500,								
112 532-N0020 100,000.00 USD Force Account for Emergency and Routine Roadway Repairs, Location No. 1 (No-Bid) \$1.00 \$100,000.00 \$1.00 \$100,000.00 \$1.00 \$100,000.00 \$1.0	\$1.00 \$100,								
113 532-N0021 150,000.00 USD Force Account for Emergency and Routine Roadway Repairs, Location No. 2 (No-Bid) \$1.00 \$150,000.00 \$1.00 \$150,000.00 \$1.00 \$150,000.00	\$1.00 \$150,								
114 532-N0022 150,000.00 USD Force Account for Emergency and Routine Roadway Repairs, Location No. 3 (No-Bid) \$1.00 \$150,000.00 \$1.00 \$150,000.00 \$1.00 \$150,000.00 \$1.00 \$150,000.00	\$1.00 \$150,								
115 534-0009	\$6,040.00 \$1,510,								
116 534-0011	\$3,040.00 \$775,								
117 534-0013 210 L.F. 72 inch Trenchless Installation \$5,000.00 \$1,050,000.00 \$1,050,000.00 \$8,000.00 \$1,680,000.00	\$7,300.00 \$1,533,								
118 534-N0017 505 L.F. 78 inch Trenchless Installation, Location No. 1A \$5,500.00 \$2,777,500.00 \$5,000.00 \$4,600.00 \$2,323,000.00	\$5,110.00 \$2,580,							·	
120 599-N0132 400,000.00 USD Force Account for Unforeseen Cleaning of Culverts (No-Bid) \$1.00 \$400,000.00 \$1.00 \$400,000.00	\$1.00 \$400,	\$400,000.00	\$1.00	\$400,000.00	\$1.00	\$400,000.00	\$1.00	0,000.00 USD Force Account for Unforeseen Cleaning of Culverts (No-Bid)	0 599-N0132 40

		BaseLine Item Detail	Green Cons	struction, Inc.	Union Paving & Co	onstruction Co., Inc.	JR Cr	uz Corp.	Spiniello	Companies
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
121 599-N0155	273 C.Y.	Gabion Wall	\$450.00	\$122,850.00	\$700.00	\$191,100.00	\$475.00	\$129,675.00	\$720.00	\$196,560.00
122 599-N0173	2,600,000.00 USD	Polyurethane Grout for Roadway Stabilization (No-Bid)	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00	\$1.00	\$2,600,000.00
123 599-N0235	336 L.F.	15 in High Density Polypropylene Pipe	\$150.00	\$50,400.00	\$300.00	\$100,800.00	\$250.00	\$84,000.00	\$248.00	\$83,328.00
124 599-N0254	119 L.F.	18 in High Density Polypropylene Pipe	\$165.00	\$19,635.00	\$350.00	\$41,650.00	\$255.00	\$30,345.00	\$258.00	\$30,702.00
125 703-0001	8,766.00 S.Y.	Topsoil	\$8.00	\$70,128.00	\$7.00	\$61,362.00	\$5.00	\$43,830.00	\$6.00	\$52,596.00
126 704-0001	6,702.00 S.Y.	Seeding, Type A	\$1.50	\$10,053.00	\$3.50	\$23,457.00	\$2.00	\$13,404.00	\$2.00	\$13,404.00
127 704-0002	4,120.00 S.Y.	Seeding, Type B	\$1.50	\$6,180.00	\$3.50	\$14,420.00	\$2.00	\$8,240.00	\$2.00	\$8,240.00
128 704-0007	1,000.00 S.Y.	Seeding, Type Wildflower	\$3.00	\$3,000.00	\$6.00	\$6,000.00	\$2.25	\$2,250.00	\$2.40	\$2,400.00
129 704-0016	4,023.00 S.Y.	Seeding, Type PL	\$3.50	\$14,080.50	\$3.50	\$14,080.50	\$2.00	\$8,046.00	\$2.00	\$8,046.00
130 705-0007	11 Each	Planting, Red Maple (Acer Rubrum)	\$800.00	\$8,800.00	\$600.00	\$6,600.00	\$950.00	\$10,450.00	\$1,000.00	\$11,000.00
131 705-N0002	1 L.S.	Plant Establishment and Maintenance Period	\$7,500.00	\$7,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
132 706-0001	8,532.00 S.Y.	Permanent Soil Stabilization Matting	\$9.00	\$76,788.00	\$4.50	\$38,394.00	\$6.00	\$51,192.00	\$5.75	\$49,059.00
133 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$750,000.00	\$750,000.00	\$2,100,000.00	\$2,100,000.00	\$3,500,000.00	\$3,500,000.00	\$57,000.00	\$57,000.00
134 801-0002	7,550.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$75.00	\$566,250.00	\$35.00	\$264,250.00	\$70.00	\$528,500.00	\$47.00	\$354,850.00
135 801-0003	7,550.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$35.00	\$264,250.00	\$25.00	\$188,750.00	\$70.00	\$528,500.00	\$25.00	\$188,750.00
136 801-0005	1,090.00 L.F.	Modular Glare Screen System	\$8.00	\$8,720.00	\$35.00	\$38,150.00	\$25.00	\$27,250.00	\$115.00	\$125,350.00
137 801-0009	3 Each	Furnishing Portable Variable Message Sign	\$20,000.00	\$60,000.00	\$14,000.00	\$42,000.00	\$20,000.00	\$60,000.00	\$10,500.00	\$31,500.00
138 801-0021	9 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$20,000.00	\$180,000.00	\$15,000.00	\$135,000.00	\$10,000.00	\$90,000.00	\$30,000.00	\$270,000.00
139 801-0022	9 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$3,500.00	\$31,500.00	\$3,500.00	\$31,500.00	\$10,000.00	\$90,000.00	\$4,600.00	\$41,400.00
140 801-0023	12 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$0.01	\$0.12	\$5,000.00	\$60,000.00	\$9,500.00	\$114,000.00	\$4,600.00	\$55,200.00
141 803-0032	50,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
142 803-N0006	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways, Location No. 2	\$500,000.00	\$500,000.00	\$715,000.00	\$715,000.00	\$50,000.00	\$50,000.00	\$4,600,000.00	\$4,600,000.00
143 534-N0004	146 L.F.	66 Inch Steel Pipe Trenchless Installation Location No. 1	\$6,500.00	\$949,000.00	\$7,500.00	\$1,095,000.00	\$9,400.00	\$1,372,400.00	\$6,690.00	\$976,740.00
				\$34,569,186.34	ļ	\$37,552,138.50		\$39,754,773.00		\$42,733,000.00